P A73FH (37-2021)

i

=2 (20214 98 12¥)

1.

LEcH LIDE?

H
i

00

W
<]
M0

LH
ol
Ho

Ol &0l OtUAH=

12Xt He At

X

o
—

tLig el Ots &

¢}

UCH ot=C+ Ul 0tS0l
otLEE O =201l |

FoL S JLIM?

¢

Ol A &1 CHD S LIDE?

Ct.

Iy

o

8

b2
=2| HolelZ2Ct.

2 = OtE 2

1 =0l

tet.

X0, ¢4t Liet

1o

=

[ Yol |
=22

)0l JIZ &l 82

5) A3ME L0l =X SHLIEN =2l B2

LIDE?

I

0l &

I

4) Al

-

ol

E

pom

K
od

2. Y (20214 9& 13¥)

1) &32&% 1

HE s==2 HISELI?

0]

ol
oK

-

n0

ol
oi0

0

ol ZclH LI

2) 233F o2t &

2 (20214 98 14Y)

A35& OlAcHe

3. &

(I

J180l 2

_7F__+_O|
= = —

1)

e}
Ell
<0

H&ILIDE?

110
_)l_

Ct

o)

(@)
0



4. =22 (20214 9& 15¢)

LHOF L2 2010t

teltl Ol=

A o

)2 LIEHLH 2

olct”

!

£ 2l ot &

ol Ct Lt

=
=

5!

=3

-

ol

o
KHU

ol

et XIS (

A =2 WS

Ol Ol Ack

=
=

‘¢ 0l

2) A39F

0l 1 (

Aot =&

1 2152 0l

e

S92+

off Ol O

X259 &I E

&ol

LICE.

4D

FRAA

J

Ol 0l Al &ot0d el

As

5. 32Y (2021¢ 98 16¥)

1 20 MAM U

2N E 8

1)

0L

i

2) #4427 H8 U=

& LIDE?

o =
= T

D¢
= =

|.|=1
-/

==

HSLIDE?

=
=

ol

e =28 S

i,

([

(=Y
=

H

X

ulr

2 S0It D

g8

320

Ll o
= —

3) A43F MLIRE GtLt

6. 22 (2021¢ 98 17Y)

1) 244F oG AL

2) 245 M & 0IA

XNet AR S5 S0 JASLIN?

6. EQY (2021 98 18Y)

£ 230Ict =clAH

Ol=

[
=

2) 248F M 4

g LIE?

Mds

z d&9

=Y @]
[

ot

N

s}

ol

SLI?

==
1o

NI ION,



